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Just like a Charsis where there is no benefit from it

OVERVIEW

The mwn stated that we place n°07n by the 7979 trees to indicate that just as there is
no benefit to be derived from n°07n, so too it is forbidden to derive benefit from
7993, Our Moo explains what is meant by, ‘there is no benefit from n°oan’.

nvoIn asks:
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The >'"1 is astounded, for in the end of 2777 »®% P30 we find that 27 92 2M1 27

x70m said! -
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That we do not cover the blood of a 731 77°1 only with something that when you
plant in it, it will grow, and it appears from the X7n. there that one may cover

07 with n%99m; meaning that something which is planted in n°0n will grow. How can the
mwn, cited here, state that n°091 is 7837 72 N°2 (there is 7837 for one can plant in it)?!

Mo0IN answers:
= 1’28129 12 DY HOINT ON 129 XM

And the n'9 answered that indeed if one plants in no9n and it will grow

(therefore it is w2 for 077 10°)) -
= NN 192 NYHT 29D 795 “n999) 15 *AnoNm PN YAN

However it will not produce as much as was planted, therefore it is referred to
as ;IR 72 NV -
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And even when it produces more than was planted, nevertheless since its

! A similar statement is mentioned also in the 7wn there (on the X"Y) in the name of 3"awA. See footnote # 2.
% The mwn there (%,r9) actually states that one may use n°0771 for o771 M0°0. However 1"2wA there states (in the 71wn)
that 12 P0On TR D°MNY 5737 1R 1 1°00n DX 2 S7anw 127 It is possible that 3"awA argues with the p"n and
maintains one may not cover 27 with n°071 (for it is not rnxn), and 17 R 1" agrees with 2"2wA, therefore mMvoIN
could only say that it is ¥nwn that we cover with n°07r, but not that it states so explicitly. It is ¥nwn that 32w does
not argue with the p"n (but just makes a generalization), since "X 1" rules like 3"2w" and if 2"2w" argues with the
?"n it is unlikely that he should rule like 3"2w against the 2°37 (see MY 7 01).
® The marginal note amends this to read 7%°91 *7n 2nY.
* 79701 literally means falling, referring to the seeds that fall to the ground from the hands of the planter.
> See ‘Thinking it over’.
® The minimal profit in the actual growth, does not justify all the toil and labor planting requires.
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produce is minimal it is considered 11817 7792 N5,

SUMMARY
n o is considered X317 7°2 n°% even though things can grow in it; since the result
is not profitable (for there is minimal growth), it is considered X377 72 n°5.

THINKING IT OVER
When one plants in n°07m, is it 7991 >73(n n1°) AR°% or (less than) 77°01 >75?
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